160 Meters. Oct., Neth. Antilles, for SSN = Low, Sigsin S-Units. (c) 2010 Dean Straw, N6BV
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160-neter signal strengths are estimated using 80-neter nunbers, mnus 3 S-units.
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80 Meters: Oct., Neth. Antilles, for SSN = Low, Sigsin S-Units. (c) 2010 Dean Straw, N6BV

urcC -->
Zone 00 01 02 03 04 05 06 07 08 09 10 11 12 13 14 15 16 17 18 19 20 21 22 23
KL7 = 01 - 1 4 6 8 8 8 8 9 9 7 5 1 - - - - - - - - - - -
Vo2 =02 9 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9 5 - - - - - - - - - 1 6 9
w= 03 2 4 6 7 8 8 8 8 8 7 9 5 2 - - - - - - - - - - -
Ww= 04 9 9 9 9+ 9+ 9 9 9 9+ 9 9 9 6 1 - - - - - - - 1 6 8
W = 05 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9 5 - - - - - - - - 3 8 9
XEL=06 9 9 9 9 9 9 9 9 9 9 9+ 9 6 1 - - - - - - - - 2 7
T = 07 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 7 2 - - - - - 2 8 9+ 9+
VP2 =08 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 8 3 1 - 1 2 6 9 9+ 9+ 9+
P4 = 09 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9O+ 9+
HC= 10 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9 5 1 - - - - - 2 8 9+ 9+
PY1 =22 66 7 7 7 7 8 7 7 6 5 1 - - - - - - - - - - - 3 5
CcE= 12 7 6 7 7 7 7 7 8 7 7 6 1 - - - - - - o - - - . 4
Lbu= 13 5 66 7 7 7 7 7 7 6 8 4 - - - - - - - - - - - 1 5
G= 14 9 9 9 9 9 9 9 8 4 - - - - - - - - - - - - - 5 8
l= 15 8 8 9 9 8 8 6 3 - - - - - - - - - - - - - - 4 7
UB=16 8 8 8 8 7 5 3 - - - - - - - - - - - - - - - 2 5
UN= 17 5 2 1 - - - - - - - - - - - - - - - - - - - - 4
UA9Q =18 1 1 - = = - - . ... ... ... o
UAO = 19 - - - - - - - - 1 2 - - - - - - - - - - - - -
4X= 20 8 8 8 7 5 1 - - - - - - - - - - - - - - - - 2 5
HZ= 21 7 7 6 2 - - - - - - - - - - - - - - - - - - 1 4
w= 22 4 8 8 8 - - - - 1 - - - - - - - - - 4 6 7 8 9 1
JT = 23 - - - - - - - - - - - - - - - - - - - - - - - -
VR2 = 24 - - - - - - - - - - - - - - - - - - - - - - - -
JAL = 25 - - - - - - - - i 1 5 - - - - - - - - - - - - -
HS = 26 - - - - - - - - - - - - - - - - - - - - - - - -
DU= 27 - - - - - - - - - - - - - - - - - - - - - - - -
YB = 28 - - - - - - - - - - - - - - - - - - - - - - - -
VK6 = 29 - - - - - - - - - - - - - - - - - - - - - - - -
VK3 = 30 - - - - - - - - - - 1 - - - - - - - - - - - - -
KH6 = 31 - - - i1 3 7 8 8 8 8 8 5 - - - - - - - - - - - -
KH8 = 32 - - - - - i1 2 5 8 8 8 1 - - - - - - - - - - - -
CN= 3 7 8 8 8 7 9 9 8 2 - - - - - - - - - - - - 1 4 6
su= 34 8 8 8 7 6 1 - - - - - - - - - - - - - - - - 2 6
6W= 3% 8 8 9 9 8 8 9 9 5 - - - - - - - - - - - 1 7 8
2= 36 8 8 8 8 7 6 2 - - - - - - - - - - - - - - 2 6
52= 37 6 7 5 4 - - - - - - - - - - - - - - - - - - 1 4
ZS6 =38 6 6 6 5 1 - - - - - - - - - - - - - - - - - 1 4
FR= 39 5 5 - - - - - - - - - - - - - - - - - - - - - 2
FJL=40 3 5 6 6 5 5 5 4 3 1 - - - - - < o - - o o - -
Zone 00 01 02 03 04 05 06 07 08 09 10 11 12 13 14 15 16 17 18 19 20 21 22 23
urc --> * = Longpath

Expected signal levels using 1500 Wand 6 dBi isotropic antennas.



40 Meters: Oct., Neth. Antilles, for SSN = L ow, Sigsin S-Units. (c) 2010 Dean Straw, N6BV

urcC -->
Zone 00 01 02 03 04 05 06 07 08 09 10 11 12 13 14 15 16 17 18 19 20 21 22 23
KL7 =01 4 6 8 8 8 9 9 9 9 8 7 7 5 3 1 - - - - - - - 1 2
Vo2 =02 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9 9 9 7 2 - - - - - 2 6 8 9 9+
ww= 03 5 8 9 9 9 9 9 9 9 9 8 9 8 5 1 - - - - - - - 1 2
W= 04 9 9+ 9 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9 9 9 7 2 - - - - - 3 7 8 9
W = 05 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9 7 4 - - - i1 3 7 9 9 9+
XE1 = 06 8 9 9 9+ 9+ 9 9 9 9 9+ 9+ 9 8 7 4 1 - - - - - 4 8 7
T = 07 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9 7 5 4 4 6 8 9+ 9+ 9+
VP2 =08 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9 9 9 9+ 9+ 9+ 9+ 9+ 9+
PA= 09 9+ 9 8 9 9 9 9 9+ 9 8 9 9 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9O+ 9+
HC= 10 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9 8 6 4 3 4 6 9 9+ 9+ 9+
PYr=112 8 8 8 8 8 9 9 9 9 8 6 3 - - - - - - - - 1 4 7 8
CE= 12 8 9 9 9 8 8 9 9 9 9 8 6 2 - - - - - - - - 2 5 6
Lbu= 13 8 9 9 8 8 9 9 9 9 9 7 5 1 - - - - - - - 3 5 6
G= 14 9 9 9 9 9 9 8 9 7 6 3 - - - - - - - - 4 7 8 9
l= 15 9 9 9 9 9 9 9 7 5 2 - - - - - - - - - - 3 7 8 9
U=16 7 9 8 8 8 8 7 5 2 1 - - - - - - - - - - 2 5 7 7
UN= 17 7 6 7 4 2 1 - - - - - - - - - - - - - - - 1 2 7
UA9 = 18 7 5 4 3 2 1 1 1 1 1 1 1 - - - - - - - - - 2 4 5
UAO = 19 - - - i1 1 1 2 4 5 5 4 5 1 - - - - - - - - - - -
4X= 20 8 9 8 8 8 6 4 1 - - - - - - - - - - - - 2 5 7 8
HZ= 21 8 8 7 7 5 2 - - - - - - - - - - - - - - 1 4 6 7
w= 22 6 6 6 2 - - - - - - - - - - - - - - - - 1 2 4 5
JT= 23 3 2 2 1 - - - i 1 2 1 3 - - - - - - - - - 1 2 5
VR2 = 24 - - - - - - - - 2 1 1 - - - - - - - - - - - -
JA1 = 25 - - - - - - i1 5 7 8 7 6 4 - - - - - - - - - - -
HS= 26 2 1 - - - - - - - - - - - - - - - - - - - - 2 2
DU= 27 - - - - - - - - 1 3 5 4 1 - - - - - - - - - - -
YB = 28 1 - - - - - - - - - 1* 1+ - - - - - - - - - - 2 2
VK6 = 29 - - - - - - - - - - 2 1 - - - - - - - - - - - -
VK3 = 30 - - - - - - - 1 6 6 5 5 2 - - - - - - - - - -
KH6 = 31 - - 3 6 8 9 9 9 9 9 8 8 5 3 - - - - - - - - - -
KH8 = 32 - - - 3 5 8 8 8 9 9 9 7 5 1 - - - - - - - - - -
CN= 33 9 9 9+ 9 9+ 9+ 9 9 8 6 2 - - - - - - - - 1 4 7 9 9
su= 34 8 9 8 8 8 7 4 1 - - - - - - - - - - - - 1 5 8 8
6W= 35 9 9 9+ 9+ 9+ 9+ 9 9 9 7 3 - - - - - - - 2 2 6 8 9
2= 36 9 9 9 9 8 8 7 4 1 - - - - - - - - - - - 1 5 4 8
52= 37 8 8 8 7 6 3 1 - - - - - - - - - - - - - - 2 6 7
Zs6 =38 8 8 8 7 5 5 2 - - - - - - - - - - - - - - 4 6 7
FR= 39 7 8 7 5 1 - - - - - - - - - - - - - - - - 3 6 7
FJL = 40 6 7 8 5 8 8 8 8 6 5 4 3 1 - - - - - - - - 1 4 6
Zone 00 01 02 03 04 05 06 07 08 09 10 11 12 13 14 15 16 17 18 19 20 21 22 23
urc --> * = Longpath

Expected signal levels using 1500 Wand 6 dBi isotropic antennas.



30 Meters. Oct., Neth. Antilles, for SSN = Low, Sigsin S-Units. (c) 2010 Dean Straw, N6BV

urcC -->

Zone 00 01 02 03 04 05 06 07 08 09 10 11 12 13 14 15 16 17 18 19 20 21 22 23
KL7 =01 6 7 7 8 8 6 5 5 5 5 4 3 1 3 4 1 - 1 - - 1 1 3 6
ve=02 9 9 8 9 9 9 9 7 3 2 9 9 9 7 4 2 1 2 4 7 8 9 9 9
w= 03 8 9 9 9 9 9 9 9 9 8 8 8 8 8 5 1 1 - - - - 2 6 6
w= 04 9 9 7 5 7 7 8 9 7 2 3 9 9 8 7 4 2 2 3 4 T 8 9 9
WB = 05 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9 8 5 5 5 6 8 9 9 9+ 9+
XE1 = 06 9 9 9 9+ 9+ 9+ 6 8 9+ 9+ 9+ 9+ 9 8 7 5 2 1 1 1 5 7 8 9
T = 07 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9 8 8 8 9 9+ 9+ 9+ 9+
VP2 =08 9+ 9+ 9+ 9 9 9 9+ 9 9 9 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ O+
PA= 09 4 4 4 4 4 4 4 5 4 4 4 3 7 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9
HC= 10 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9 9 8 8 8 9 9+ 9+ 9+ 9+
PY1=1212 9 9 9 9 9 9 9 9 8 8 8 7 3 - - - - - - 2 5 7 8 9
CE= 12 9 9 9 9 9 9 9 9 9 6 9 8 3 1 - - - - - - 1 5 6 8
Lbu= 13 9 9 9 9 9 9 9 9 8 8 8 7 4 1 - - - - - - 2 3 6 8

= 14 8 8 8 8 8 6 5 8 7 7 7 4 1 - - - - i 2 5 7 8 8 8
l= 15 8 8 9 9 8 6 8 8 6 5 3 1 - - - - - - 1 4 7 8 8 8
UA3 = 16 8 8 7 5 2 3 8 6 6 4 2 1 - - - - - - 1 4 5 7 7 7
UN= 17 4 5 7 6 4 3 2 1 1 1 1 - 1 - - - - - - 1 3 5 5 5
Uo=-18 6 6 7 6 4 4 3 3 4 5 3 3 2 1 - - - - - 1 3 5 5 6
Uu0=19 2 2 2 3 3 3 4 5 7 7 6 6 5 2 1 - - - - - 1 1 5 1
4X= 20 8 8 8 8 8 7 6 4 2 - - - - - - - - - 1 2 5 7 8 8
HZ= 212 8 8 8 7 7 5 3 1 - - - - - - - - - - 1 2 4 6 7 8
wJ = 22 8 8 6 5 1 1 - - - - - - - - - - - - 1 1 4 6 7 7
JT= 23 5 5 5 4 2 2 2 2 4 5 4 3 2 1 - - - - - - 2 3 5 5
VR2 = 24 1 1 1 - - - - 1 3 4 5 4 2 1 - - - - - - 1 2 3 2
JA1 = 25 - - - i 2 3 5 6 7 7 7 7 5 4 1 - - - - - - 1 1
HS= 26 4 4 2 - - - - - - - 2* 2 - - - - - - - - - 3 4 4
DU= 27 - - - - - - - 1 4 5 6 5 5 1 - - - - - - 1 3 -
YyB= 28 3 3 1 - - - - - - 2* 4% 5 1% - - - - - - - 3 6% 4
VK6 = 29 1* - - - - - - - 2 4 3 2 2 - - - - - - - 2 5 2%
VK3 = 30 - - - - - 1 3 6 6 6 5 7 5 2 - - - - - - - 1* - -
ke =312 1 3 6 7 8 8 8 8 9 8 8 8 7 5 4 1 - - - - - - - -
KH8 = 32 - - 2 5 6 7 8 8 8 8 6 7 6 4 2 - - - - - - - - -
CN= 3 9 9 9 9 9 9 9 9 8 7 6 2 - - - - - i1 2 5 7 8 9 9
su= 34 8 8 8 8 8 8 6 4 2 - - - - - - - - - 1 2 5 7 8 8
6W= 3% 9 9 9 9 9 9 9 8 8 8 7 4 - - - - - 2 5 7 8 9 9
2= 36 9 9 9 8 9 8 8 6 4 1 - - - - - - - - - 3 5 7 7 8
52= 37 8 8 7 8 7 6 3 1 - - - - - - - - - - - 1 4 6 7 7
Zs6 =38 8 8 8 8 7 6 5 2 - - - - - - - - - - 1 3 6 7 7
FR= 39 8 7 6 6 5 2 - - - - - - - - - - - - - 1 3 5 7 8
FJL = 40 5 7 8 8 7 8 8 8 7 6 6 5 4 2 - - - - 1 1 3 5 5 5
Zone 00 01 02 03 04 05 06 07 08 09 10 11 12 13 14 15 16 17 18 19 20 21 22 23

urc --> * = Longpath

Expected signal levels using 1500 Wand 6 dBi isotropic antennas.



20 Meters: Oct., Neth. Antilles, for SSN = Low, Sigsin S-Units. (c) 2010 Dean Straw, N6BV

utc -->

Zone 00 01 02 03 04 05 06 07 08 09 10 11 12 13 14 15 16 17 18 19 20 21 22 23
KL7 = 01 9 8 7 5 1 - - - 1*  1* - - - - - 3 5 4 5 5 7 8 8 9
vz = 02 7 1 1 - - - - - - 1* 2* 9+ 9+ 9+ 9 8 8 8 9 9 9+ 9+ 9+ 9+
W = 03 9+ 9 6 2 - 1 2 7 7 2 - - - 9 9 8 8 4 4 4 6 8 9 9
W = 04 9 4 9 9 9 9 9 9+ 9 6 7 - 9+ 9+ 9 8 8 8 9 9 9+ 9+ 9+ 9+
W = 05 9+ 9+ 9 9 9 9+ 9+ 9+ 8 5 8 9+ 9+ 9+ 9+ 9 9 9 9 9+ 9+ 9+ 9+ 9+
XE1l = 06 9+ 6 9+ 9+ 9 9+ 9+ 9+ 9+ 9 7 9 5 9+ 9 9 9 8 8 8 9 9 9+ 9+
T = 07 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+
VP2 = 08 9 6 3 1 1 3 4 2 2 5 6 6 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+
P4 = 09 6 6 6 6 6 6 6 6 6 6 6 5 5 5 5 6 8 8 9 9+ 9+ 9+ 8 6
HC = 10 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+
PY1L = 11 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9 1 1 9 9+ 9 8 5 4 4 5 7 8 9 9+ 9+ 9+
CE = 12 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 5 - 6 9+ 8 6 4 3 2 2 3 5 7 8 9 9+
LU = 13 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 5 1 9 9+ 8 5 4 2 2 2 3 5 7 8 9 9+
E 14 5 4 6 7 4 - - 1 6 8 9 9 8 5 5 5 5 7 8 9 9 9 9 7
| = 15 5 3 7 7 2 - 4 8 3 6 8 7 5 3 3 3 5 6 8 9 9 8 8 7
UA3 = 16 1 1 - - - - 4 8 5 6 8 8 7 4 3 3 4 6 6 8 5 3 1 1
UN = 17 - 1 5 7 7 7 6 4 1 2 6 5 6 4 2 2 2 2 1 1 2 2 1 -
UA9 = 18 4 5 5 8 7 7 7 5 2 1 6 7 6 4 - - - - - 1 1* 3 3 3
UAO = 19 6 6 4 3 4 5 6 7 5 3 4 4 1 - - - - - - - 2 6 7 8
4X = 20 9 9 9 8 8 9 9 7 4 5 4 2 1 1 1 1 3 4 6 8 8 9 9 9
HZ = 21 8 7 4 7 9 8 8 5 1 2 2 1 1 1* 1 1 2 4 6 7 8 8 8 8
wJ = 22 7 8 7 7 7 6 4 2 1 2 3 4 5 3* 1 1 1 2 2 4 5 7 8 7
JT = 23 8 7 5 5 5 5 6 5 3 1 6 8 7 4 - - - - - - 1* - 3 6
VR2 = 24 7 5 4 2 2 1 2 3 2 1 5* 8 6 7 5 3 1 1 2 2 2% 2 7 7
JA1 = 25 5 5 3 2 3 5 6 7 7 5 5 8 5 3 2 1 - - 1 3 5 5 5 6
HS = 26 8 5 3 2 2 1 - 1 2% 1 5 5 4 3 2 2 1 1 2 4 6 5 2 6
DU = 27 5 4 1 1 - 1 2 4 4 1 2 8 8 8 5 3 2 1 2 2 4* 5 5 6
YB = 28 8 6 5 3 1 - - 1 6* 5 5 8* b* 7* 4 2¢ 1* 1 2 4 6 7 5* 8
VK6 = 29 6 6 3 2 1 1 2 5 7 4 7 8 6 3* 2 1* - 1* 2% 4 4* 5 7T
VK3 = 30 1 2 2 4 5 6 8 8 8 3 1 6 7 4 1 - - - 1* 2% 1 8 4%  3*
KH6 = 31 7 8 8 8 8 8 9 9 9 8 4 1 9 7 - 5 5 3 1 1 1 2 1 4
KH8 = 32 4 5 8 9 9 9 9 8 8 4 1* 1* 9 8 6 2 4 1 - - - - 1 2
CN = 33 6 4 7 8 9 6 1 5 2 8 9 9 7 5 4 4 6 7 8 9 9 9 9 8
SU = 34 9 9 9 8 7 9 9 7 4 5 4 2 1 1 - 1 3 4 6 8 9 9 9 9
6W= 35 9+ 9+ 9+ 9+ 9+ 9 5 - 2 8 9+ 9 8 5 5 5 6 7 8 9 9+ 9+ 9+ 9+
D2 = 36 9+ 9+ 9+ 9+ 9 9 9 8 3 8 6 3 2 1 1 1 1 3 6 8 9 9 9+ 9+
52 = 37 9 9 9 9 9 8 8 5 2 2 1 1 - 1 - 1 1 3 5 7 8 9 9 9
256 = 38 8 8 7 3 6 8 8 6 1 4 2 1 1 - - - 1 2 5 7 8 9 9 9
FR = 39 5 1 1* 8 8 8 6 2 - - - - 2% 1*  1* 1 2 4 6 8 8 8 7
FJL = 40 7 7 6 5 4 3 1 1 4 2 7 8 8 7 5 4 3 5 6 6 8 8 8 8
Zone 00 01 02 03 04 05 06 07 08 09 10 11 12 13 14 15 16 17 18 19 20 21 22 23
urc --> * = Longpath

Expected signal levels using 1500 Wand 12 dBi isotropic antennas.



17 Meters. Oct., Neth. Antilles, for SSN = Low, Sigsin S-Units. (c) 2010 Dean Straw, N6BV

urc -->
Zone 00 01 02 03 04 05 06 O7 08 09 10 11 12 13 14 15 16 17 18 19 20 21 22 23
KL7 01 8 5 2 1* 1* 1* - - - - - - 2 6 7 8 8 8 9 9

9+ 9+ 9+ 9 9 9 9+ 9+ 9+ 9+ 9+ 7

v = 02 - - - - - - - - - - 1* -
W= 03 9 5 2 1* 1* - - - - - - - - 2 9+ 9 9 9 9 9 9 9 9+ 9+
W= 04 4 4 6 - 4 5 6 7 1 - - - 3 9+ 9+ 9+ 9 9 9 9+ 9+ 9+ 9+ 9
WB= 05 9+ 8 1 2 4 5 7 7 - - - 9 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ O+
XE1L =06 6 9+ 5 3 2 3 3 8 8 1 - 4 9+ 9+ 9+ 9+ 9 9 9 9 9+ 9+ 9+ O+
T =07 9+ 9 9 9 9 9 9 9 9 9 9 9 9 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+
VP2 =08 3 - - - - - - - - - - - 5 9 9 9 9 9+ 9+ 9+ 9+ 9+ 9 9
PA= 09 6 6 6 6 6 6 6 6 6 7 6 6 6 6 6 6 6 6 6 6 6 6 6 6
HC= 10 9+ 9+ 9 8 8 8 8 9 9 9 9 8 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+
PYl1 =11 9+ 9+ 9+ 9+ 9+ 9+ 9 3 1* - 7 9+ 9+ 9 9 8 8 8 9 9 9+ 9+ 9+ 9+
CE= 12 9+ 9+ 9+ 9+ 9+ 9+ 9+ 7 - - - 9+ 9 9 6 6 6 6 7 8 9 9 9+ 09+
LU= 13 9+ 9+ 9+ 9+ 9+ 9+ 9+ 7 - - 2 9%+ 9 8 5 5 5 5 7 8 9 9 9+ 9+
= 14 - - - - - - 1* 1* 1* 2 8 9 9 8 8 8 8 8 9 9 8 8 4 -
I = 15 - - - - 1* 1* 1* 2 - 3 8 9 9 7 8 8 8 9 9 9 8 6 1 -
UA3 = 16 - - 1*  1* - 1* - 3 - 1 8 9 9 8 7 7 8 8 7 1 - - - -
UN= 17 1* 1* 1* 2 4 4 2 1* - - 5 8 7 6 5 4 1 - - - - - - -
UM =18 1+ 2*r 1 2 1 2 2 1 - - 2 8 4 2 2% 1* - - - - - - - 1*
U =19 8 3 1* 1* - - 1 2 - - 3% 4* 3 2% 1* - - - 1* - - 2 8 8
4X= 20 2 5 2 1* 1 8 8 3 - 3 8 6 6 6 8 5 6 7 8 8 7 5 5 4
HZ= 21 1 - 1* 1* 8 8 6 1 - 1 6 5 5 5 4 5 6 6 7 5 3 5 2 1
wJ = 22 2% 2 2 2 4 5 3 2% 1* - 6 6 6 5 6 5 2% 1 1*  1* 1* 1 1 1
JT= 23 6 3 2 1 1 1 1 1 1* - 1 8 4 2 3 1* - - - - - - - 5*
VR2 = 24 6 5 3% 3* 2 1* 2% 4* 1* - 4* 5 8 7 4 4 2 2% 2% 4 1* - 5 9
JAMM =25 6 3 2¢ 1* - - 2 3 1 - 2% 2* 3 2 3 1* 1* 1* 1* - 4 7 8 8
HS= 26 6 4 4* 3* 1* 1 1* 3* 1* - 3 8 7 5 5 3 2r 3 2¢2 3 4 1 1* 2
DU= 27 7 5% 4% 2% 1* 1* 2% 4* - 4* 4 8 7 4 2 1 1 3% 4 3 1 7 8
YB = 28 6 4* 7* b* 4* 3 5% 7* 4% 6 8 9* 8 7* T7* 5* 4 5 8 8 2 4* 5%
VK6 =29 8 8 7 7 7 7 7 8 5 - 3 8 8 7 5% bB5*r G* G5 bBx 4 1% 1 5* g*
VwW3=30 6 7 8 8 8 8 9 8 5 - 5% b* 4% 2% 2% 1% - - - - 5 5 6 6
k6 =312 8 8 8 4 2 2 3 5 5 1 2 2 5 1 - 1 8 6 5 8 8 6 6 7
K8=32 6 8 9 9 9 8 5 5 2 1* 2 3 3 9 1* 1* 5 6 4 3 8 4 4 5
CN= 33 - - - 1 - - 1* 1 - 1 9 9 9 8 8 8 8 9 9 9+ 9 9 5 -
su= 34 2 6 3 1* 1* 6 8 5 - 3 8 6 5 6 8 5 6 7 8 9 8 7 6 5
6W= 35 8 4 3 2 4 5 - - - 2 9+ 9+ 9 9 8 9 9 9 9 9+ 9+ 9+ 9+ 9+
D2 = 36 9+ 9+ 9+ 9 8 6 9 5 - 5 8 7 7 7 6 5 5 8 9 9 9+ 9+ 9+ 9+
52 =37 9 9+ 9 7 8 9 8 2 - 2 5 4 8 7 3 4 5 6 8 9 9 9 9 9
ZS6 = 38 1 - - - 1 7 8 4 - 1 5 5 4 8 5 4 5 7 8 9 8 8 6 2
FR= 39 - 2% - 5 9 9 8 2 - i1 5 7 6 5 2 3 4 6 7 8 8 6 - -
FJL = 40 1 - *oo- - - - *oo- - 1 4* 4 6 7 7 6 6 6 6 5 3 3 2
Zone 00 01 02 03 04 05 06 07 08 09 10 11 12 13 14 15 16 17 18 19 20 21 22 23
urc --> * = Longpath

Expected signal levels using 1500 Wand 14 dBi isotropic antennas.



15 Meters. Oct., Neth. Antilles, for SSN = Low, Sigsin S-Units. (c) 2010 Dean Straw, N6BV

utc -->

Zone 00 01 02 03 04 05 06 07 08 09 10 11 12 13 14 15 16 17 18 19 20 21 22 23
KL7 =01 6 3% 3 2* 1* 1* - - - - - - - - - - - - 4 5 5 6 7 7
v = 02 - - - - - - - - - - - - 5 9+ 9+ 9 9 9 9 9+ 9+ 9+ 5 -
W= 03 7 3% 2% 2% - - - - - - - - - - 8 9 9 9 9 9 9 9+ 9+ 9
VW8 = 04 2% - - - - - - 1 - - - - 6 9 9 9 9 9 9+ 9+ 9+ 9 5
W= 05 8 1 - - - - - 1 - - - 1 9+ 9+ 5 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 09+
XEl = 06 9+ 8 5% 2% - - - 4 2 - - - 7 - 8 9+ 9 9+ 9+ 9+ 9+ 9+ 9+ 8
T =07 8 7 6 5 5 4 5 6 6 7 7 6 4 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+
VP2 = 08 - - - - - - - - - - - - 21 3 2 2 4 6 9 9 7 4 5
PA= 09 6 6 6 6 6 6 6 6 6 6 6 6 5 5 6 6 5 5 6 6 5 5 6 6
HC= 10 9+ 8 4 3 2 3 4 5 6 5 4 1 4 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+
PYr =11 9 9 9+ 9+ 9+ 9 3 - - - 1 9+ 9+ 9 9 9 9 9 9 9 9+ 9+ 9+ 9+
CE = 12 9+ 8 8 9+ 9+ 9 7 2 - - - 1 9+ 9 8 8 5 5 8 9 9 9 9+ 9+
LU= 13 9+ 9 9+ 9+ 9+ 9+ 7 2 - - - 9+ 9 8 8 7 7 7 8 8 9 9+ 9+ 09+
= 14 - - - - - - 3 2% - - 6 7 9 8 7 8 8 8 8 7 1 3 - -
I = 15 - - - - - 3* 1* 1 - - 2 9 9 8 8 8 8 9 9 8 2 1 - -
UA3 = 16 - - - 1* - - 1*  1* - - 4 8 9 8 8 7 7 5 1 - - - - -
UN = 17 - 2 2¢ 2 1 1 1* 1% - - 1 7 8 6 4 1% - - - - - - - -
UA9 = 18 2% 1 2*  1*  1* - 1*  1* - - - 4 3* 3 1* - - - - - - - - -
UAO =19 5 3 1* 1* 1* 1* 1* 1* - - 2% 4*  2x 1% - - - - - - - - 4 8
4X = 20 - 1 - 2% 1* 2 5 - - 1 7 8 7 7 6 7 8 8 8 5 2 1 - -
H = 21 - - 2 2 3 4 3 - - - 2 6 7 6 6 6 7 7 2 1 1% - - -
W= 22 1* 2% 3% 3* 2% 2% 2% 1* - - 4 7 7 6 6 4% 3* 2% 4x 2¢ 2% - - -
JT = 23 2 3* 5% 2x 1% - 1* 1 - - - 3* 3* bB5x 2% 1* - - - - - - - 2*
VR2 = 24 3% 5% 4* 3* 3* 3* 4* 3* - - 1* 7~ 7 5% 6% 3* 4* 3+ 3* 2% - - 1 8
JA1 =25 6 3 2¢ 1* 1* 1* 2% - - - 2% 4* 4x 3* 3+ 2x 1 1% - - - 7 8 8
HS = 26 3* 6% b5* 4* 2% 2% 3% 2% . - - 6 7 7 5% 4% b5x 4% 3+ 2¢ 1 - 6*
DU= 27 5 5* G5 3% 2x 2% 3% 1* .- - 2* 6* 6 4% 4% 3* 4* 3+ 4* 3I* 1+ - 7 8
YB = 28 7 7 7* 6* b* b5* 6* b5* 1* - 4 8 9* 8 8 7 7 6 7 8 6 - - 7*
VwK6=29 5 6 5 5 5 5 5 6 1 - - 4* 8+ 8* 6% 5% b5* 3* 2% 1* - - - 7*
VK3 = 30 5 6 7 7 7 7 8 6 1 - 1* 5 1* - - - - - - - - 1 4 5
KH6 =31 8 8 3 3 3* 2r 1* - - - 4* 3+ 1* - - - 8 8 8 7 7 8 8 8
K8 =32 8 8 8 8 8 3 1+ 1 - - 4* 5% B5x 7 1% - - 5 6 5 6 6 6 7
CN= 33 - - - - - - 1* - - - 5 9 9 8 9 9 9 9 9 9 9 5 - -
SU= 34 - 1 - - 2* 2 5 - - i1 7 8 7 6 6 8 8 8 9 8 5 2 1 @-
6W= 35 2* 1* 2* - - - - - - 6 9+ 9+ 9 9 9 9 9+ 9+ 9+ 9+ 9+ 9+ 8
2= 36 9+ 9 9 8 6 1 6 - - 2 8 8 8 7 8 8 9 9 9 9+ 9+ 9+ 9+ 9+
52= 37 8 9 4 2 4 5 6 - - 1 6 6 5 5 5 6 7 7 8 9 9 9 9 9
ZS6 = 38 - - - - - 2 7 - - - 5 6 6 5 5 6 7 8 8 8 3 - - -
FR= 39 - - - 1 8 8 6 - - - 6 6 6 5 5 5 6 7 7 6 3 - - -
FJL = 40 - - - 1*  1* 1* 2* 1* - - - *oo- 1 1 1 1 1 1 1 - - -
Zone 00 01 02 03 04 05 06 07 08 09 10 11 12 13 14 15 16 17 18 19 20 21 22 23
urc --> * = Longpath

Expected signal levels using 1500 Wand 14 dBi isotropic antennas.



12 Meters. Oct., Neth. Antilles, for SSN = Low, Sigsin S-Units. (c) 2010 Dean Straw, N6BV

utc -->

Zone 00 01 02 03 04 05 06 07 08 09 10 11 12 13 14 15 16 17 18 19 20 21 22 23
KL7 = 01  3* 4% 4% 3* 1* - - - - - . ... ... o1 x4y
v =02 - - - - - - - - . . - . . 1 3 1 - 1 2 4 5 2 - -
W= 03 4% 5% 5% 1* - - . . . - . . . . . 8 9 9 9 9 9 9 9 8
w= 04 - - - - - - - < - - - < < - 1 1 - - - 3 6 5 1 -
W= 05 3 - - - - - - - - - . . 8 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9+ 9
XEL =06 9 5% 5% - . - - . . - - . . 9+ - 1 9+ 9+ 9+ 9+ 8 8 7 6*
T =107 2 1 - - - - - - - - - . . 2 8 8 9 9 9+ 9+ 9+ 9+ 9+ 8
VP2 = 08 - - - - - - ..o Lr o 1F - - oo o201 ar 2¢ -
PA= 09 5 5 5 5 5 5 5 6 6 6 6 5 5 5 5 5 5 5 5 5 5 5 5 5
HC= 10 8 - - - - - - - - - . . . 5 8 9 9 9+ 9+ 9+ 9+ 9+ O+ O+
P1=11 1 1 6 6 5 2 - - - - - 2 6 2 1* - - - 6 9 9+ 8 7 4
CE= 12 2 - - 5 5 2 - - - . . - 8 9 2 2t 1* 1* 1* 3 5 7 7 6
lu= 13 5 1 2 6 6 6 - - - - - - 9 7 4 3 1 1 4 9 9 9+ 9+ 9
= 14 - - - - - - - 1* - - 1 1 6 5 3 8 8 8 4 1 - - - -
l= 15 - - - - - 3 1* - - . . 6 8 7 7 8 8 8 8 3 - - - -
UA3 =16 - - - - 3% 4% 1* - - . . 5 8 8 6 5 2 - - - - - . .
UN= 17 - 4% 4% 3* 2%+ 1* 1* - - - . 1 6 4 1* - - - - - - - . .
UAQ = 18 2% 5% 3% 3¢ 2% 1* 1*x - - . . 4% 1% o o . oo ..o
UAD = 19 5% 5% 3% 2t 2% 2% 1 . . . . 1*x - . . . . . . . . . .
4X= 20 - - - - 4 2* . . . . 1 8 B8 B8 8 8 8 8 6 - - - - -
HZ= 21 - - 1* 5% 4 2+ . . . . . 6 7 7 8 8 7 2 1* - - - - .
W= 22 - 4% 5% 6% 5% 4% 1* . . - 1 6 8 8 7+ 6% 5* 4% 4% 2+ . . .
JT = 23 5% 5% 4% 2% 1* 1* 1* 1* - . - - B* 3 1* - - . - . . .
VR2 = 24 7* 7* 6% 6* 5% 5% 2% 1x . . . 4x gt T+ B%x G*x 4* ¢ 2% 1x - . . 5
JAL =25 6* 5* 5%+ 3% 2% 2¢+ . . . . 1* 6% 5* 4* 2+ 1* 1* - - - . 2 7 7
HS = 26 7* 8% 7* 7+ 5% 4% 1 1* - . . . 8 gt gt Tr 5% 3* 1x . . . . %
DU= 27 8 8 7% 6% 5% 4% 1* . - . . 6% 6% 8 7+ 6* 5+ 3* 2x 1x - - 2 7
YB= 28 8% 7+ 8 8 8+ 7+ 4%+ 2 . . . 5 9 9 9 8 8 7 5 4 1 - - 4%
VK6 =29 - 2 2 1 1 2 1 4 - - - - 6t 8 T+ 5* 3* 1+ . . . . 4
VK3 =30 - - 3 4 4 4 4 2 - - o ..o
KH6 = 31 8 2 3 2t 1* - . - - . * - - - - 2 8 8 8 8 8 8 8
K8=32 8 8 5 5 3 - - - - - . T 4 4 . . - 6 5 7 8 9 9 9
CN= 383 - - - - - . - - . . . 8 1 7 9 9 9 9 9 2 5 - - -
su= 3 - - - - 4 2* 1 - . . 1 8 8 8 8 8 8 9 8 2 1 - - -
W= 35 1* 1* - - - - - - - . . 9 9 9 9 9 9 9+ 9+ 9+ 9+ O+ 8 4*
=36 9 8 7 3 1 - 2 - - - 1 8 9 8 8 9 8 9 9 9 9+ 9 9+ 9
52= 37 1 1 - - - - 1 - - - 1 8 8 7 7 7 8 9 9 9 9 9 8 6
zZ$%$=38 - - - - - - 3 - . . - 8 8 7 7 7 8 8 8 3 - - - -
FR= 39 - - - - 5 3 3 - - - 1 7 7 6 6 7 7 6 3 - - - - -
FIL =40 - - - - - 2% 1% o o oL L oo oo - -
Zone 00 01 02 03 04 05 06 07 08 09 10 11 12 13 14 15 16 17 18 19 20 21 22 23

urc --> * = Longpath
Expected signal levels using 1500 Wand 14 dBi isotropic antennas.



10 Meters. Oct., Neth. Antilles, for SSN = Low, Sigsin S-Units. (c) 2010 Dean Straw, N6BV

utc -->

Zone 00 01 02 03 04 05 06 07 08 09 10 11 12 13 14 15 16 17 18 19 20 21 22 23

KL7 = 01 1* 1+ 1*  1* - - - - - - - - - - - - - - - - - - - 1*
vo2 = 02 - - - - - - - - - - - - - - - - - - - - - - - -

W = 03 4* 3* 1* - - - - - - - - - - - - 1 i 2 2 4 6 7 6 4

W= 04 - - - - - - - - - - - - - - - - - - 9+ - - - - -

W= 05 - = = = = = = = = = = = 1 9 9 9 9 9 9 9+ 9+ 9+ 9 7

XE1l = 06 6* 5* 1* - - - - - - - - - - 8 9+ 9+ 9+ 9+ 9+ 9+ 2 5* 5% O+
T = 07 - - - - - - - - - - - - - - - 2* 1 3 6 9 9 9 9 1

VP2 = 08 - - - - - - - - - - - - - 3% 1% 1* 1% Q*x 2% 2% 3k ok _ -

P4= 09 5 5 5 5 5 5 5 5 6 6 5 5 5 5 5 5 5 5 5 5 5 5 5 5

HC = 10 1 - - - - - - - - - - - 3* 3* 2 3 6 8 9+ 9+ 9+ 9+ 8

PYL = 11 - - - 1 - - - - - - - - - 1* 2 2* 1* 2% 5% b5* 4 4% - -

CE= 12 - - - - - - - - - - - - - - - 1* 1% 1* 1* 2% 2% D% D% .

LU= 13 - - - 1 1 - - - - - - - 1 1 1* 1 1* 1* 1* 2 5 6 6

= 14 = = = = = = = = = = - - 1 1* - 4 5 5 - - - - -

I = 15 - = = = = = - - - - - 1 6 4 3 3 5 5 2 - - - - -

UA3 = 16 - - - - A - - - - - 4 2 1 - - - - - - - -

UN = 17 - 1* 5% 3* 2* 1* - - - - - - 1 3+ - - - - - - - - - -

UAQ = 18 - 5% 4* 5% 3+ 1* - - - - - - 2% - - - - - - - - - - -

UAO = 19 6* 5* b5* 4* 3+ 1* - - - - - - - - - - - - - - - - - 3*
4X = 20 - - - - 3* 1 - - - - - 5 8 8 8 8 8 6 - - - - - -

H = 21 - - - 5% 2* 1* - - - - - 2 6 7 8 8 5 1* - - - - - -

W= 22 - 5* 6* 6* b5* 3* - - - - - 1 7 7 6% b5* 5% 3 1 - - - - -

JT = 23 4 5% 4* 3* 1* 1* - - - - - - A S - - - - - - - - -

VR2 = 24 7T A 4*x 4% 2% - - - - - - 7 7% 6* 6* 4% 2 1* - - - - 2

JA1 = 25 6* 6* b5* 4* 2% 1* - - - - 3* 4 1* - - - - - - - - 4  6*
HS = 26 6* 7 T7* T7* b5 2% - - - - - - 4 8 8* 7+ bH* 1* - - - - - -

DU = 27 7 7 7* 6* 5 2% - - - - - 1* 8 8* T7* 6* 4 2* 1* - - - - 5*
YB= 28 2 4* b5* 6* 8 6* 1* 1* - - - - 7 8 8 7 7 4 2 1 - - - -

VK6 = 29 - - - - - - - 1 - - - 1* 5% bx 2% . - - - - - - 1*
VK3 = 30 - - - 1 1 - - - - - - - - - - - - - - - - - - -

KH6 = 31 6 3* * oo - - - - - - - - - - - - - 7 8 8 9 8 9 8

KHB = 32 8 7 - - - - - - - 4* 1 1 - - - 1 6 8 7 7 8 9

CN= 33 - - - - - - - - - - - 1 7 8 8 8 9 9 9 7 - - - -

sU= 34 - - - - 1* - - - - - - 5 8 8 8 9 9 8 3 - - - - -

6W= 35 1* - - - - - - - - - - 1 6 9 9 9 9 9 9+ 9+ 9+ 7 4% 2%
D2 = 36 5 2 1 - - - - - - - - 7 8 9 8 9 8 9 9 9 9 9 9 38

52 = 37 - - - - - - - - - - - 5 7 8 7 9 8 8 9 9 9 8 4 1

ZS6 = 38 - - - - - - - - - - - 5 8 8 8 8 8 8 5 - - - - -

FR= 39 - - - - 2 - - - - - - 7 6 6 5 6 5 2 - - - - - -

FJL = 40 - - - - - - - - - - - - - - - - - - - - - - - -

Zone 00 01 02 03 04 05 06 O7 08 09 10 11 12 13 14 15 16 17 18 19 20 21 22 23

urc --> * = Longpath

Expected signal levels using 1500 Wand 14 dBi isotropic antennas.



